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100% R2 96.8 R3 100 R4 100
R5
R3
KPI
[0)
KPI 100 24 100%
R4
1
D - A —
36

29

29




- No 23
21
(@)
21 100%
R2 100 35 R3 100 36 R4 100% 36
RS
O
(.
|
R3
KPI
KPI 100 94.4
R4
D C - A -
|
|
|
21 -
R5
R4
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(@]
(@]
15
R1 121 R2 13.5% R3 14.2%
R5 75%
R2 56.0% R3 54.5 R4 45.8
(]
|
R3 -
B 100% KPI
KPI 14% 100
o 20% 14.2% R3
45.8
D C - A =
|
76
1
|
8 15
11 16 -
|
CAN-DO - CAN-DO
3
|
7 2 -
5 1 -14
ICT -
28
Al -
21
Al
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- No, 25
(@]
1 10
H30 11.3% - R1 12.2% - R2 12.2%
RS 99 R2 98.9 _R3 99.4 _R5.2 95.6
| 70%
99%
|
R2 99. - R3 99.4
R3 R2 70.9 . R3 725
|
|
KPI
0,
KPI 99% 95.6 R5.2
Rd
D C - A =
|
|
17
12
|
639 1 R
|
5
7 R
9
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MYP
R DP R3
RS R2:MYP DP
11 DP
DP IB
R3
2.40 R3 2.35 KPI >34
o 1.1 R3 1.03 1.0 R3 .89 . 122
1.0 R3 0.20 0.86
Re .
130 R3 0.09
0
D C - —
|
o PDCA
11
|
10
|
11
558
467 10
10
|
4
10 41
15
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No, 27

(@]
- 100% R3:100 R4:100
O R2 R3
O 28
[}
R3 R3. PR
|
R4 KPI
KPI
N 30% R2 28.2 28.4
D - A -
|
PR
11
CM o
9
. PR
- ICT
loP 1 1 .
1 1
1 1
2
|
1
1 5
|
12 16 o
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No, 28

60 60
R2 43.9 51.5 R3 52.0 45.6 55.1 48.8
R4 48.3 425 52.0 43.0
60 60
. R1 44.6 40.4 36.2 34.6 R3 46.5 43.6 43.8 41.6
R4 451 44.9 42.8 40.6
85 85
R1 77.5 74.7 745 711 R3 77.4 75.4 76.8 74.3
R4 76.1 75.1 76.5 73.5
R3
KPI
60 60 :48.3 (425 ) :52.0 (43.0 )
KPI 50 50 1451 (44.9 ) :42.8 (40.6 )
:76.1 (75.1 :76.5 (73.5
Rd 80 80 ( ) ( )
D C - A —
|
9 9 11
|
1 4
PTA
o PDCA
8
10
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(@]
100 R3 60.4 62.1 62.0 R4 62.0 60.2 66.0
R5
70% R3 6 54.7% 3 50.3 3 62.3% R4 6 52.6% 3 45.1 3 59.8%
- PDCA
96.3 89.3 90.0
- (  100% 100 100 )
- (  60.4 62.1 62.0 )
R3 -
KPI
80 100
=l PDCA :62.0 :60.2
R4 .
100 95 95 :66.0
D C - A N
|
PDCA
11
23 -
|
25 .
11
|
51.3 42.9 22.0
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_ No, 30
15
R4.12 1.07% R3 1.36%
R4.12 2.87% R3 2.60%
10
RS
10 1
R4 100
15
R3
KPI
1.36% R3
1.07 R4.12
KPI 100% 36.4
R4 100
0,
100% 98.8
100
D C - A -
R4 R6 -
1 4
4
12 -
15 - 15
2
1 1 -
- PDCA
4 5
[ 15
12 :8 16
10 N
|
12
10 16
1 8 14
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No, 31

100 100 R3 87.7 89.3 R4 91.9 94.8
RS 100 100 100
R2 100 R3 100 R4 100
R3
KPI
100 100 91.9%
KPI
y 94.8%
100 100 100 100
C - A N
|
1 10
|
10 11 12
10
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- No, 32
(@]
95% 2 90% 1 80
R2 3 870% 2 756 1 73.8% R3 3 875% 2 755 1 74.5%
RS R4 3 87.0% 2 742 1 72.6%
(]
R3 16 15 538 2,128
[}
|
R3
|
KPI
KPI :87.0% 2 :742 1 :72.6%
Rd 88% 2 80% 1 77 = B e
D C - A —
|
19 1,757 1
12 251 1
22 2,041 R
11
|
11 125
17
32
4 20 8
|
1 R
10 PDCA
2
3
|
38
STEAM 8 8 6 R
14 43 10
3 10
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(@]
100% R2 91.4 R3 91.4 R4 97.1
RS
65 R2 60.4 R3 62.3 R4 52.4
(|
|
R3 -
KPI
95% 97.1%
KPI e 4
R4 64 '
100 R3 77.1
D - =
|
10
|

40




- No, 34
(@]
95
R2 92.3% 2 85.1% 87.7
R5 R3 91.6% 2 85.0% 87.5
R4 90.4% 2 85.4% 86.8
(]
[}
R3 -
KPI
90.4
KPI1
) 90 85.4
86.8
D C - A -
-
( )
18 N
R5 21 22
-
23 25
10 N
12
R5 : 22 23
-
PDCA
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No, 35

73 R4 81

2,500 R5.1 2,885
< KPI
R5 100 R4 100
GAP 100 R3 100 R4 100
SDG
R3
KPI
KPI 100 100
R4 30
D C - A -
-
-
SDG
11
99.0
-
10 11
GAP mGAP
GAP - GAP
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35

PTA

73
116

86

50

PTA

12

H25
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(@]
50 R3 37.3 44 .4
R5
50 R3 34.0 34.8
R4
-
-
R3
KPI
KPI1
o 85.8%
74.6%
92 R3 87.6 92.0
40.6
72 R3 67.6 71.3
CEFR A2
50%
D C - A =
-
10
JET mALT
JET ALT
26 7 8 N ALT
-
10 - 12
10 11
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No, 37

(@]
100
RS
|
R3 -
KPI
KPI 100 100
R4
D C - A -
|
10
11
11
|
10
|
11

45




2- No, 38
PDCA
(@]
:40 R3:35.5 R4:31.5
:30 R3:27.5 R4:31.8
2
(@]
R5
R3:1.12% R4.12 :0.85
O PDCA
|
|
R3
:40 KPI
:30 31.4%
A 26.6%
R4 :1.00% 0.85 12
D - A =
1 .
PDCA
4
511
2
4
5 o
5
2 5
11 .
1
2
5
. 2
10
47 PDCA
2 10 o
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No, 39
o SC
SC 80
o R2 79.7 R3 82.2% R4 83.1
SC
1
| Web
R3
- Web
KPI
SC
KPI 79.5 83.1
R4
D C A =
-
SC 24
14
-
52
43 3 27
12 1
SC -
SC SC
85 59
5 SC
-
5 SC
Web -
1
3

47




2- No, 40
100
R2 :99.5 :99.1 :95.9 R3 :100 R4 :100 :94.0
55 R2 :50.5 :52.8 :54.2 :53.5 :54.4 :52.0
- R4 :61.5 :66.3 :54.0
PDCA
35 R2 :34.7 :37.0
R3 :28.3 :34.0 :30.0 R4 :35.3 :48.0
R3
KPI
100 100
100 94.0
KPI 61.5 66.3
2 55 54.0
PDCA 35.3 39.8
35 48.0
D C
mKPI PDCA
5
5
PDCA
12
10
12
4
5 9
4 10
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No, 41

(@]
R2 20
R5 100%
R2: 45 R3:7 35 R4:10 50 R4.12
(|
(]
|
R mSC  SSW
R4 20 KPI
KPI 70%
° 50.0 12
R4
20
20 60 10 2
6
20 17
sC
SsSwW
4
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2- No, 42
o PDCA
100 90
R3 94 .4 87.9 R4 94.3 90.0
PDCA
"5 100
R3 100 100 98.0 100 R4 100 100 98.0 93.3
1
™
R3 -
KPI
94.3
KPI 100 90 90.0
R4 PDCA 100 100
100% 98.0 93.3
D - A -
™
4
PTA
PTA
3
™
4
911 2
™
4
-
5
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(@]
(@]
R2 11 5.8 R3 16 8. R4 21 11.4
o 50m
R1: 956 9.42 9.72 964 8.09 8.02 8.96  8.81
RS R3: 9.56 9.45 9.68 9.64 8.07 8.01 8.99 8.88
R4: 958 9.53 9.78  9.70 8.10 8.06 9.01 8.96
(]
(]
(|
|
- DE
R | um
|
KPI
. na 50m 9.58 9.53 9.78 9.70
8.10 8.06 9.01 8.96
R4 50 752 7.52 9.26 9.22
D © = A .
|
10
3
|
6
11
|
10
1 .
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No, 44

(@)
R1 5.4 3.9 2.9 2.0 7.0 5.3 4.1 3.3
R3 4.6 4.7 2.8 3.1 6.2 5.8 4.0 4.3
R4 4.4 4.0 2.6 2.8 5.2 4.9 4.2 3.9
(@)
R5 R3
R4 7.0 R3 70 R4 6.0 R3 6.0
|
|
R3 -
KPI
R3 4.4 4.0 26 238
5.2 4.9 4.2 3.9
KPI 7.0 7.0 6.0 6.0
Rd R3
R3
C - o
|
7 ICT
9 10
4 5 - R3:4
2 o
|
9
10
|
6 = R4
|
8
11
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No, 45

10

R5

R4

R4 R5

R3

KPI
Ré

R3

55

KPI

2,195
55

12 3

10

7/26 8/23

R5

11
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No, 46
(@]
80 R2 96.1 R3 99.3% R4 98.8%
R 80 R2 92.2 R3 93.5% R4 94.4%
1
—_ R2 56 -R3 66
- R2
R2 -R3 5 87-82% 5 86-85% 2 81-78% 2 78-75%
R3
-
ICT
90 KPI
KPI 98.8%
Ré 90 97.1%
D C - A -
-
12
-
56
62
2
ICT
ICT - ICT
ICT ICT
12
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No, 47

R2 3
90 R4
R5 90 R4
8 26 R1 10 21
1 7 R1 1 3
R3
KPI
KPI 80
R4 4
80
A o
R
A
B
C

55




R No, 48
o
100
R3 : 97.4 92.3 100 92.7
RS 94.3 97.3
R4 : 99.6 96.0 100 69.4
95.2 88.6 10
(| R2
-
m]
687.7 657.8 689.8 645.9
R 1 11 660
-
KPI
10
KPI 99.6 96.0
R4
100 69.4
95
95.2 88.6
D C - A
-
17
8
9 10
-
10
-

56




- No, 49
o
100 80
RS R4
| R2
R2 37.0 43.2 R3 34.6 49.3
-
R3
- 50
-
KPI
] 100 60 77.0 12
79.3 12
R4
D C —
3 8 -
22 51
10 o
-
14 32 55 5
10
-

57




- No, 50
(@]
(@]
400 R2 232 R3 387 R4 422
RS
[}
[}
|
R3
KPI
438 422
KPI 5 o
= 2 2 2
A .
21 36 422
C )
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No, 51

100% R3 96.2% R4 98.6
R5 40 R4 15
R3
KPI
97%
KPI1 98.6
R4 30 15
D -
11
7
65
11
11 15
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1- No, 52
(@]
100
- R2 93.9 R3 91.5 R4 92.0
=
90
|
R3
KPI
KPI
92.0
o 95
D - A =
13 41 42

206

89

12

60




_ No, 53
(@)
11 13
R4 11 13
. 100
R2 93.9 R3 915 R4 92.0
(|
90
-
R3
KPI1
11
KPI1 11 13
R4
95 92.0
D C - A —
11 13
13
2
SSwW 23
1

61




- No, 54
5
SSW
o
SSW 34
R2 18 R3 19 1 R4 18
R5
CISSW
R - SSW
mSSW
KPI
KPI1 SSW 18
R4 24
D C - A -
SSW -
SSW 6 SSW
SSW - SSW
SSW 1
SSW
SSW
SSW -
18
- SSW
SSW

62




1- No, 55
sc
SSW
(@]
90 SC SSW
100 R2 95.3 96.3
R3  95.1 :72.3 96.8 81.8 :62.3
RS SC SsSwW 10
90 95 100
R3  70.6 77.7 81.1 R4
| SC SSW
mSC  SSW
3 - SC  SSW
90 SC  SSW KP1
100
SC  SSwW 10
|R<4PI 75 80 70
SSW
100
D -
sc SSW -
sc
sc 11 . SC  SSw
SSW
sc SSW
sc SSW 12
sc SSW -
8 11 SC Ssw
sc 10 11 12 .
SSW 7 sc
sc SSW
sc
SSW 10
SSW 4
7 12
|
SC SSW SC SsSw
SC SSW 11 -
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No, 56
SSW
SC SSwW
SC SSW
o SC SSW
3 SC SSW 2
RS 100 R2 100 R3 100 R4 100
= SC SSwW
mSC SSW
R3
KPI
SC SSW 1 SC SSwW
KPI1
100
R 100
D C - A -
SC mSC
3 SC -~ SC
56 SC
SC SSW - SC
SC SSW
SC
SC
46 1
SC mSC SSW
10 16
6 -SC SSW
SSW
24 2
SC SSwW - SC
8 11 SSW
SC 10 11 12 N
SSW 7 SC SSW
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- No, 57
SC
SSW
(@)
100
R3 100 R4 100
100
RS R2 955 R3 957 R4 100
]
[
RlL 72.7% R2 955 R3 95.7%
]
R3 SC
KPI
KPI 3.6
R4 95 100%
D C ] A
200 1,011
70 579 SCsv
96 226
55 48
62 223 ~SCSV sc
LINE 130
93.8%
Scsv sc 101213
73,000 55 76,000
LINE
57,978 19,326 160
5  LINE 1 -
7 LINE
2 8
9 10
121 LINE 3
6 1
2
52
43 3 27 . SC SSW
12 1
1 Web 2
4 10
1 24 2 24 1 1
17 2 2
9
SCsV
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1- No, 58
ICT
(@)
ICT R3 R4
©90
SC SsSw 100
R2 95.3 96.3 91.8
RS R3 95.1 :72.3 96.8 :63.1 81.8 :62.3
©1,000 R3 7.8 26.5 10.4
R3 7.2 24.5 12.8
| ICT
- ICT
R3
KPI
70% 57.1 4 7
R3 25 1 4 ’
NFL R4.12
R4 ICT
50% R3 85.6
D C - A -
-
7
10
11
ICT -
ICT
6
5 ICT
-
7
10

66




- No, 59
(@)
R2 R3 R4 R4
(@)
R5
R4
90
1
- R2
R2 - R3 5 87-82% 5 86-85% 2 81-78% 2 78-75%
R3 L
-
-
KPI1
KPI1
R4 100
D C - A
-
2 3
10
11
12
-
5
5
6 1 -
5 3

67




No, 60

1_
R5
R3
KPI
KPI
R4 10,318
1,942
314
A -
4
4
6
6
6
6
10 12
11

68




No, 61

R5

R2 33

R3 33 R4 33

R3

KPI
Ré

33

KPI

33

18

25
25

-18

69




B No, 62
(@)
100%
R2 61.9 R3 63.6 R4 77.2

R5

1

-
R3 L

KPI
70
NP 77.2
R4
D C - A -
-
DVD R2 R3
DVD
DVD
N 122
-
85

10




- No, 63
(@]
100
R2  94.7% 89.8 R3  90.4% 90.3% R4  90.9 87.8
R5
100
R2 747 57.1 R3  82.4% 67.4% R4  80.9 65.3
| Web
|
i R2 795 _R3 812 R2 217 _R3 193
KPI
100 90.9
KPI 87.8
R4 80.9
85 80 65.3
D C - A =
|
241 12 B
4 12
100 12
|
. oJT
32
2
23
|
11
192

n




No, 64

(@)
RS 80 R4 97
|
|
R
KPI
KPI 97%
R4 80
D -
|
246
11/15 11/22 11/30 10/26
2 .
7
|
1 1 oJT
|
|
89 12 -
70 12
24 1 .

12




- No, 65
(@)
100 R2 78.0 R3 86.5% R4 94.2
100
RS R2 42.1 19 R2 19
R3 66.7 10 15 R3 15
R4 65.0 13 20 R4 20
(|
-
R3
KPI
90
KPI1 94.2
R4 65.0
80
D C - A —
-
2 N
-
5
6 N
-
50
3

13



- No, 66
(@]
3.0 R2 3.6 R3 3.6 R4 35
RS 80% R2 73.0 R3 875 R4 87.7
| 3.6
|
- 48.5% 15.6
KPI
3.0
KPI 80 3.5
R4 87.7
D C - A —
|
2 47
11 46 -
93.6
|
41 9
25 3 -
89.7
|
41 9 ICT
23 2
|
78.7 ICT
- ICT
ICT

74




- No, 67
ICT
3
(@]
© ICT
ICT 100
- R2 20.2 R3 339 R4 56.4
o 2020
| R3.12
ICT
|
R | micT
KPI
ICT 100
86.6
KPI ICT 571
R 100 80 553
D C - A —
|
|
11
|
GIGA 168 . ICT
ICT
11 mICT
6
ICT
.2
mICT
50
ICT ~ICT
1
12

15




) No 68
o
90 R2 59.8 R3 67.2% R4 68.9%
o
RS 100%
R2 90.9 R3 88.1 R4 92.3
]
-
R3
-
KPI
RY 92.3
95%
D C - A -
-
5
4 -
22
9
19
3
-
-
669 1
-
13 61

16




No, 69

(@)
(@)
RS 90 R2 52.9 R3 63.6 R4 63.0
100 R2 63.2 R3 62.5 R4 76.9
—Web
|
R3
KPI
KPI 80 63.0
90
R 76.9
C - A =
14
14 Q&A
11

11




(@)
A
100%
R5 R2.4 92.7 R3.4 100 R4. 95.2%
—_
—_ R3.8 62 -R4.2 92
-
R3 L
A KPI
KPI 100% 35.6
R4 95.2 R4.4
D C - A —
-
-
4
5
96 R5.2 120
32 7
105 8
4
110 1
11 12
4

18




_ No, 71
(@]
RS 20 R4 75.8
|
|
R3
KPI
KPI
R 90 75.8
D C - A —
|
|
51 -
|
|
1
1
|

19




_ No, 72
(@]
70
R2 68.8 R3 73.3 R4 57.9 R5.3 10
16 44 126
RS R2:10 14 40 R3:11 20 53 R4:14 23 74
=]
| 11 73.3
|
|
R3 -
KPI
70 57.9 R5.3/10
KPI 50 60.9
R4 16 24 75 12/14 5/10 25/45
14 23 74
D C | A N
|
5
14 23 74 1657 5 16
18
59
34 2 33
11 [
3
38 4
STEAM 8 8 6
14 43 10 5
1
CORE -
4
|
|
77%
86 59
12
|
10 11 12
R5
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(@]

(@]
R5

100 R3 64 R5.
= 215
5,466

|
R3

|

KPI
KPI1
J 80 R5.2
- A -
ml
3
11
(6 )
|
DX
10 - 196 R3 80
4
3

81




No, 74

100 R3 17.3

R6
ICT
80 80
R3 :68.9 66.1 :65.8 60.4 R4 :67.5 655 :62.8  56.7
5 ICT 1
70 70
R3 :49.7 53.8 :58.1 583 R4 :625 67.2 :65.7  68.4
17.3 294 51
R3
KPI
98.2
ICT 67.5 65.5
KPI 70 70 62.8 56.7
R4 ICT 62.5 67.2
65.7 68.4
60 60
D A -
4
98.4% 97.9% ICT
11

82




No,

75

o ICT
RS ICT 100% R2 66.7 R3 76.4 R4 86.3%
OICcT
CJAI ICT
(| ICT
R3 mICT Al
mICT Al
KPI
KPI ICT 80%
RA 86.3%
D C - A =
m|CT Al
R2 3
Al
- ICT
ICT 4
ICT
ICT - ICT ICT
- ICT
ICT
40 36
ICT 28 -
Al
21
3 2
3
12 3
m|CT Al
Google
- ICT

83




- No, 76
ICT
o ICT
ICT A D
90 R3 82.8 81.5 R2 81.0 78.2
A IcT
RS B IcT c IcT D
= ICT
ICT
R2 5.9 _LR3:20.6 R2 20.4 5R3:56.0
R3 m|CT
ICT KPI
KPI A D R3 A:88.5 87.5 B:77.1  75.3
R4 5 C:79.1 77.3 D:86.3 86.0
D C - A -
- ICT
Google
ICT -
ICT
ICT
N ICT
9
3 577 76.6 - R3 36
ICT 80
150 10
ICT -
ICT
10
|
R4 :20 4 12
|
1 1 2 1 12
N ICT
ICT
3
43 12
- ICT ICT
ICT N
:40 :36
ICT m|CT
ICT ICT
16 59 5 2 = ICT
- ICT
43
164 2 = ICT
ICT
m|CT
ICT 5
118 = ICT
ICT
ICT

84
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ICT Al ICT
PC
o GIGA
1
R3
R5 R2
LAN R2
=
- RS
R3 -
- IcT
LAN RgPsl
KPI '
) GIGA R4.4
R5.3
D C - A -
-
R5 LAN - LAN
LAN
4 10
10 12 12/21
/23 /
4 1 3
4 8
5 8
GIGA mGIGA
3
4 —
R5
12
9
™
8
R5.

85




) No, 78
ICT
ICT
o ICT ICT
ICT 2018 2022 ICT
= :100 R3:51 R4:54
CICT
ICT
mR4
R3
- ICT
KPI
ICT
;P' 7125 35 54 19 35
D - A
ICT
8
10
4 11
Google
ICT
3
NPO
3

86
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(@)
100
R3 100
R5 85% 80
R3 82.6 63.3 81.2% 85.8
R5.2 82.7 72.6 80.0% 83.6
O
(.
(.
|
R3
|
KPI
82.7% 72.6
KPI 85% 80.0 83.6
R4 80 R4.4 R5.2
D C A -
3
80
40 11
100 11
180 2
4
7 11
179
41
95 11
122

87




i No, 80
(@)
IcT
100 R2 60.6 R3 100 R4 100
RS 100% R4 86.7
- ICT
2.9/ . 3.5/ ICT
- 27 ICT
ICT
R 53.8 49.5 R3
|
1T KPI
KPI 100% 100
R4 100% 86.7%
D C - A =
|
R4 20
4 12
|
1 1
2 1 12 . ICT
IcT
3
43 12
|
29 -
|
10 11
11 -
|
1 231 4 ”
231 4 9
231

88




- No, 81
Al
Al
R2
R3
R4 9
= R5 100
R3
KPI
KPI
R 9 9
D C ] A
|
4 N
9
|
2 231 .
3 7 231
3
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R7
|
3 .
|

89
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o
100
R2 100 100 R3 857 957 83.3  85.3
R4 100 94.6 83.3 775
RS
40
R2 46.5 34.5 R3 27.3 17.8 22.8 12.6
R4 356 17.6 246 111
-
|
R 42.9 23.5 31.6 50.0
32.4 33.0
KPI
100 94.6 83.3 77.5
= ]
KPI DIRTEAR : 90 35.6 17.6 246 11.1
40
Re
D C - A -
|
13
3 4
|
4 5 -
R3 .
1
- 23
10
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o R5
R6
o R2 R2
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= 12
[ 10 12
- R
R3 -
KPI
RA. R4.5
KPI1 R4.11
R4 R5.
D C -
5
[ J
1
11
12
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-2 No, 84
10
o ICT
R1 10 10
R2 10 0 R3 10 2 R4 10
- R1
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